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use "H(#f .dta"
egen mean_Inco2=mean(Inco2),by(year pilot)
graph twoway (connect mean Inco2 year if pilot==I,sort) (connect mean Inco2 year if
pilot==0,sort Ipattern(dash)), ///
xline(2011,lpattern(dash) Icolor(gray)) ///
xline(2013,Ipattern(dash) Icolor(gray)) ///
ytitle("Inco2") xtitle("£E ") ///
ylabel(,labsize(*0.75)) xlabel(,labsize(*0.75)) ///
legend(label(1 "AbHZH") label( 2 "$x i 2H")) /1
xlabel(2006 (1) 2017)  graphregion(color(white)) //[1Ji&
graph export "Inco2.wmf", replace fontface("Times New Roman")
A R I 3 A
egen mean_Incogdp=mean(Incogdp),by(year pilot)
graph twoway (connect mean Incogdp year if pilot==1,sort) (connect mean Incogdp year if
pilot==0,sort lpattern(dash)), ///
xline(2011,lpattern(dash) Icolor(gray)) ///
xline(2013,Ipattern(dash) Icolor(gray)) ///
ytitle("Incogdp") xtitle("4EE") ///
ylabel(,labsize(*0.75)) xlabel(,labsize(*0.75)) ///
legend(label(1 "AbHHZH") label( 2 "$x i 4H")) /// 51
xlabel(2006 (1) 2017)  graphregion(color(white)) // [ Ji&
graph export "Incogdp.wmf", replace fontface("Times New Roman")

***Eﬁi%%ﬁ DID &E***

* L (pro=4), Kidt (pro=7), FifF (pro=1), EIK (pro=27), Wik (pro=21), "%k (pro=12),
R (pro=24), EII (city=169), PUJI| (pro=6) **

gen treatment=1 if pro==4|pro==7|pro==1 |pro==27|pro==21[pro==12|pro==24

replace treatment=0 if treatment!=1

gen post=1 if (pro==4|pro==7|pro==1|pro==12)&year>=2013

replace post=1 if (pro==27|pro==21)&year>=2014

replace post=1 if pro==24&year>=2016

replace post=0 if post!=1

gen DID=treatment*post

w1, BAERE-R 1, PR 3

global control "lnpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq
strpub Inslfd Inzls t1 t2 t3"

asdoc xtreg Inco2 DID i.year#i.region i.year,fe vce(cluster pr) nest replace dec(4)
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asdoc xtreg Inco2 DID $control i.year#i.region i.year,fe vce(cluster pr) nest append dec(4)
asdoc xtreg Incogdp DID i.year#i.region i.year,fe vce(cluster pr) nest append dec(4)
asdoc xtreg Incogdp DID $control i.year#i.region i.year,fe vce(cluster pr) nest append dec(4)

#4, FATRHRL IR 4%+
clear
use "H(#f .dta"
global control "lnpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq
strpub Inslfd Inzls t1 t2 t3"
gen tpilot=2013 if city==169
replace tpilot=2013 if pro=—=
replace tpilot=2013 if pro==4
replace tpilot=2013 if pro==7
replace tpilot=2013 if pro==12& city!=169
replace tpilot=2014 if pro==21
replace tpilot=2014 if pro==27
replace tpilot=2016 if pro==24
gen policy=year-tpilot /4= UK I fi 71 J5 HA%K
tab policy
forvalues i=10(-1)1{

gen pre'i'=(policy==-"1")
H
gen current=(policy==0)
forvalues i=1(1)4{

gen post'i'=(policy=="1")
H

drop prel0 pre9 pre8 pre7
asdoc xtreg Inco2 pre* current post* $control t1 t2 t3 i.year#i.region i.year,fe vce(cluster pr) nest
replace dec(4)
asdoc xtreg Incogdp pre* current post* $control t1 t2 t3 i.year#i.region i.yearfe vce(cluster pr)
nest append dec(4)

5 R ) 47 e

xtreg Inco2 pre* current post* $control c.c_intf#c.Ilnpgdp tl t2 t3 i.year#iregion i.year,fe
vee(cluster pr)

coefplot, baselevels ///

keep(pre* current post*) ///

vertical ///%% B K%

yline(0,Icolor(edkblue*0.8)) /I y=0 iX 5% i £k

xline(7, Iwidth(vthin) Ipattern(dash) Icolor(teal)) ///

ylabel(,labsize(*0.75)) xlabel(,labsize(*0.75)) ///

ytitle("[2] )7 R %L (Inco2) ", size(medium small)) /I Y Fkg S, K/ small
xtitle("BUF T £, size(medium small)) /0N X FlikRER, K/ small
addplot(line @b @at) /48 i £ 2 8] R 28
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ciopts(Ipattern(dash) recast(rcap) msize(medium)) ///CI NFEL M
msymbol(circle_hollow) //plot %% Lo 3%

scheme(s1mono)

W 427 B

xtreg Incogdp pre* current post* $control c.c_int#c.lnpgdp t1 t2 t3 iyear#i.region i.year,fe
vee(cluster pr)

coefplot, baselevels ///

keep(pre* current post*) ///

vertical ///%% B K%

yline(0,Icolor(edkblue*0.8)) /I y=0 iX 2% i 2k

xline(7, Iwidth(vthin) Ipattern(dash) Icolor(teal)) ///

ylabel(,labsize(*0.75)) xlabel(,labsize(*0.75)) ///

ytitle("[2] )9 £ %L (Incogdp) ", size(medium small)) //IIN Y Flid5 5, K/ small
xtitle("BUF T £, size(medium small)) /0N X FlikrE, K/ small
addplot(line @b @at) /4 i £ 2 8] I ZE 28

ciopts(Ipattern(dash) recast(rcap) msize(medium)) ///CI NFEL F M
msymbol(circle_hollow) //plot %% Lo 3%

scheme(s1mono)

“ETESHHA R K- R 5

replace c_int=0 if ¢_int==.

asdoc xtreg Inco2 pre* current post* c.c_int#c.Inpgdp $control i.year#i.region i.year,fe vee(cluster
pr) nest replace dec(4)

asdoc xtreg Incogdp pre* current post* c.c_int#c.lnpgdp Scontrol i.year#i.region i.year,fe
vee(cluster pr) nest append dec(4)

w3, BRHRR-HE 5+
* E E*
clear
set matsize 11000
forvalue i=1/500 {
clear
use "H4f.dta"
drop if year==2006|year==2017
bsample 1,strata(pr) /ARIEE 504, RRHBEVLAHE—DF 0
sample 8,count
keep pro year
gen new_pilot=1
rename year new_time
save xn,replace
merge 1:m pro using "%(#.dta"
drop merge
replace new_pilot=0 if new_pilot==.

gen post=1 if year>=new_time
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replace post=0 if post!=1
gen x=new_pilot*post
global control "Inpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys
strsq strpub Inslfd Inzls t1 t2 t3"
xtset ci year,delta(1)
xtreg Inco2 x $control i.year#i.region i.year,fe vce(cluster pr)
gen b new_treat=_b[Xx]
gen _se new_treat=_ se[x]
duplicates drop b new_treat,force
save placebo'i',replace
b
use placebol,clear
forvalue i=2/500 {
append using placebo’1'
H
gen b=_b new_treat
kdensity b,xtitle(DID % %{ ) ytitle(" #f % % & ( Inco2 ) ")tline(0,Ip(dash) Ic(black) )
tline(-0.0833,Ip(dash) Ic(black) ) tlabel(0,add labsize(*.75)) tlabel(-0.0833,add labsize(*.75))
normal
*E‘ E*
clear
set matsize 11000
forvalue i=1/500 {
clear
use "#4f.dta"
drop if year==2006|year==2017
bsample 1,strata(pr) /ARIEE 504, REHBEVLAHE—DF A0
sample 8,count
keep pro year
gen new_pilot=1
rename year new_time
save xn,replace
merge 1:m pro using "% ¥ .dta"
drop merge
replace new_pilot=0 if new_pilot==.
gen post=1 if year>=new_time
replace post=0 if post!=1
gen x=new_pilot*post
global control "Inpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys
strsq strpub Inslfd Inzls t1 2 t3"
xtset ci year,delta(1)
xtreg Incogdp x $control i.year#i.region i.year,fe vee(cluster pr)
gen b new_treat=_b[Xx]

gen _se new_treat=_se[x]
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duplicates drop b new_treat,force

save placebo'1',replace
H
use placebol,clear
forvalue i=2/500 {

append using placebo’1'

H
gen b=_b new_treat
kdensity b,xtitle(DID % %4 ) ytitle(" # % % & ( Incogdp ) ")tline(0,Ip(dash) lc(black) )
tline(-0.0895,Ip(dash) Ic(black) ) tlabel(0,add labsize(*.75)) tlabel(-0.0895,add labsize(*.75))

normal

*x4, FafEiEmie

use "H( . dta"

***Eﬁi%%ﬁ DID &ﬁ-***

* L (pro=4), Kidt (pro=7), FifF (pro=1), EIK (pro=27), Wik (pro=21), "%k (pro=12),
fEE (pro=24), FII (city=169) **

gen treatment=1 if pro==4|pro==7|pro==1|pro==27|pro==21[pro==12|pro==24
replace treatment=0 if treatment!=1

gen post=1 if (pro==4|pro==7|pro==1|pro==12)&year>=2013

replace post=1 if (pro==27|pro==21)&year>=2014

replace post=1 if pro==24&year>=2016

replace post=0 if post!=1

gen DID=treatment*post

save as "datal.dta"

** (1) PSM-DID-f{3& 6**

* (1.1) PELEC

*JLHLE 2006 4F

clear

use " datal.dta"

keep if year==2006

set seed 10010

gen tmp=runiform()

sort tmp

global control "lnpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq
strpub Inslfd Inzls t1 "

psmatch2 pilot $control,out(Inco2) radius cal(0.05) ate ties logit common
pstest $control,both

gen common=_support

drop if common==0|common==.

keep city

save " psm06.dta", replace

*JLHCE 2007 4F

clear
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use " datal.dta"

keep if year==2007

set seed 10010

gen tmp=runiform()

sort tmp

global control "lnpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq
strpub Inslfd Inzls t1 "

psmatch2 pilot $control,out(Inco2) radius cal(0.05) ate ties logit common
pstest $control,both

gen common=_support

drop if common==0|common==.

keep city

save " psm07.dta", replace

*JLHC 2008 4F

clear

use "datal.dta"

keep if year==2008

set seed 10010

gen tmp=runiform()

sort tmp

global control "lnpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq
strpub Inslfd Inzls t1 "

psmatch2 pilot $control,out(Inco2) radius cal(0.05) ate ties logit common
pstest $control,both

gen common=_support

drop if common==0|common==.

keep city

save " psm08.dta", replace

*JLHL 2009 4F

clear

use " datal.dta"

keep if year==2009

set seed 10010

gen tmp=runiform()

sort tmp

global control "lnpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq
strpub Inslfd Inzls t1 "

psmatch2 pilot $control,out(Inco2) radius cal(0.05) ate ties logit common
pstest $control,both

gen common=_support

drop if common==0|common==.

keep city

save " psm09.dta", replace

*JLED 2010 &£
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clear

use " datal.dta"

keep if year==2010

set seed 10010

gen tmp=runiform()

sort tmp

global control "co2 cogdp co2 cogdp Inpgdp Inpgdpp strind strser strls strwz popden Inpop
marketindex Inqys strsq strpub Inslfd Inzls t1 "

psmatch2 pilot $control,out(Inco2) radius cal(0.05) ate ties logit common
pstest $control,both

gen common=_support

drop if common==0|common==.

keep city

save " psm10.dta", replace

5 IHAE 2006-2010 FEAE SR BUELE ] A R A+

merge 1:1 city using " psm09.dta"

drop if _merge!=3

drop merge

merge 1:1 city using " psm08.dta"

drop if _merge!=3

drop merge

merge 1:1 city using " psm07.dta"

drop if _merge!=3

drop merge

merge 1:1 city using " psm06.dta"

drop if _merge!=3

drop merge

save "psm.dta", replace

* 5 R A Bt AT & IR IR A

use " datal.dta"

merge m:1 city using " psm.dta"

drop if _merge!=3

xtset ci year

sum

global control "lnpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq
strpub Inslfd Inzls t1 t2 t3"

xtreg Inco2 DID $control i.year#i.region i.year,fe vee(cluster pr)
est sto al

xtreg Incogdp DID $control i.year#i.region i.year,fe vce(cluster pr)
est sto a2

esttab al a2 using -4 ULHL.rtf, r2 obslast nogaps drop (*year*) star(* 0.1 ** 0.05 *** 0.01)
b(%6.4f1) se(%6.4f) 12(%6.4f) compress replace

* (1.2) JEARUCHEL*
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*JLAC 2006 F

clear

use "datal.dta"

keep if year==2006

set seed 10010

gen tmp=runiform()

sort tmp

global control "lnpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq
strpub Inslfd Inzls t1 "

psmatch2 pilot $control,out(Inco2) logit ate neighbor(4) common ties
pstest $control,both

gen common=_support

drop if common==0|common==.

keep city

save " psm06.dta", replace

*JLAC 2007 4F

clear

use "datal.dta"

keep if year==2007

set seed 10010

gen tmp=runiform()

sort tmp

global control "lnpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq
strpub Inslfd Inzls t1 "

psmatch2 pilot $control,out(Inco2) logit ate neighbor(4) common ties
pstest $control,both

gen common=_support

drop if common==0|common==.

keep city

save " psm07.dta", replace

*JLAC 2008 4F

clear

use "datal.dta"

keep if year==2008

set seed 10010

gen tmp=runiform()

sort tmp

global control "lnpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq
strpub Inslfd Inzls t1 "

psmatch2 pilot $control,out(Inco2) logit ate neighbor(4) common ties
pstest $control,both

gen common=_support

drop if common==0|common==.

keep city
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save " psm08.dta", replace

*JLAC 2009 F

clear

use "datal.dta"

keep if year==2009

set seed 10010

gen tmp=runiform()

sort tmp

global control "lnpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq
strpub Inslfd Inzls t1 "

psmatch2 pilot $control,out(Inco2) logit ate neighbor(4) common ties

pstest $control,both

gen common=_support

drop if common==0|common==.

keep city

save " psm09.dta", replace

*JLE 2010 £F

clear

use "datal.dta"

keep if year==2010

set seed 10010

gen tmp=runiform()

sort tmp

global control "lnpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq
strpub Inslfd Inzls t1 "

psmatch2 pilot $control,out(Inco2) logit ate neighbor(4) common ties

pstest $control,both

gen common=_support

drop if common==0|common==.

keep city

save " psm10.dta", replace

*EIFHE 2006-2010 FEAE L R HUE Y FE Y AOREAS **

merge 1:1 city using " psm09.dta"

drop if _merge!=3

drop merge

merge 1:1 city using " psm08.dta"
drop if _merge!=3

drop merge

merge 1:1 city using " psm07.dta"
drop if merge!=3

drop merge

merge 1:1 city using " psm06.dta"
drop if _merge!=3

drop merge
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save " psm.dta", replace

* 5 R G B R EAT S IR IF R
use "datal.dta"

merge m:1 city using " psm.dta"

drop if _merge!=3

xtset ci year

sum

global control "lnpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq
strpub Inslfd Inzls t1 t2 t3"

xtreg Inco2 DID $control i.year#i.region i.year,fe vee(cluster pr)

est sto bl

xtreg Incogdp DID $control i.year#i.region i.year,fe vce(cluster pr)

est sto b2

esttab bl b2 using I 2 UL rtf, r2 obslast nogaps drop (*year*) star(* 0.1 ** 0.05 *** 0.01)
b(%6.4f1) se(%6.4f) 12(%6.4f) compress replace

* (1.3) BILEC*

*JLAC 2006 F*

clear

use "datal.dta"

keep if year==2006

set seed 10010

gen tmp=runiform()

sort tmp

global control "lnpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq
strpub Inslfd Inzls t1 "

psmatch?2 pilot $control,out(Inco2) kernel ate ties logit common quietly

pstest $control,both

gen common=_support

drop if common==0|common==.

keep city

save " psm06.dta", replace

*JLAC 2007 4F

clear

use "datal.dta"

keep if year==2007

set seed 10010

gen tmp=runiform()

sort tmp

global control "lnpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq
strpub Inslfd Inzls t1 "

psmatch?2 pilot $control,out(Inco2) kernel ate ties logit common quietly

pstest $control,both

gen common=_support

drop if common==0|common==.

10
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keep city

save " psm07.dta", replace

*JLAC 2008 F

clear

use "datal.dta"

keep if year==2008

set seed 10010

gen tmp=runiform()

sort tmp

global control "lnpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq
strpub Inslfd Inzls t1 "

psmatch?2 pilot $control,out(Inco2) kernel ate ties logit common quietly
pstest $control,both

gen common=_support

drop if common==0|common==.

keep city

save " psm08.dta", replace

*JLAC 2009 F

clear

use "datal.dta"

keep if year==2009

set seed 10010

gen tmp=runiform()

sort tmp

global control "lnpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq
strpub Inslfd Inzls t1 "

psmatch?2 pilot $control,out(Inco2) kernel ate ties logit common quietly
pstest $control,both

gen common=_support

drop if common==0|common==.

keep city

save " psm09.dta", replace

*JLAC 2010 >

clear

use "datal.dta"

keep if year==2010

set seed 10010

gen tmp=runiform()

sort tmp

global control "lnpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq
strpub Inslfd Inzls t1 "

psmatch?2 pilot $control,out(Inco2) kernel ate ties logit common quietly
pstest $control,both

gen common=_support

11
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drop if common==0|common==.

keep city

save " psm10.dta", replace

*EIFHE 2006-2010 AL [F HUE Y FE Y AOREAS **

merge 1:1 city using " psm09.dta"

drop if _merge!=3

drop merge

merge 1:1 city using " psm08.dta"

drop if merge!=3

drop merge

merge 1:1 city using " psm07.dta"

drop if _merge!=3

drop merge

merge 1:1 city using " psm06.dta"

drop if merge!=3

drop merge

save " psm.dta", replace

* 5 R A Bt AT & IR IR A

use "datal.dta"

merge m:1 city using " psm.dta"

drop if _merge!=3

xtset ci year

sum

global control "lnpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq
strpub Inslfd Inzls t1 t2 t3"

xtreg Inco2 DID $control i.year#i.region i.year,fe vee(cluster pr)
est sto cl

xtreg Incogdp DID $control i.year#i.region i.year,fe vce(cluster pr)
est sto c2

esttab c1 c2 using #% UL L .rtf, r2 obslast nogaps drop (*year*) star(* 0.1 ** 0.05 *** 0.01)
b(%6.4f1) se(%6.4f) 12(%6.4f) compress replace

w5 (2) BIRRFAAR SRBUR BRI - PR R 7

clear

use "datal.dta"

global control "Inpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq
strpub Inslfd Inzls t1 t2 t3"

asdoc xtreg Inco2 DID $control i.year#i.region i.year if 1c2010==1|1c2012==1]1c2017==1,fe
vce(cluster pr) nest replace dec(4)

asdoc xtreg Inco2 DID $control i.year#i.region i.year if city47==1,fe vce(cluster pr) nest append
dec(4)

asdoc xtreg Inco2 DID $control i.year#i.region i.year if sopilot==1,fe vce(cluster pr) nest append
dec(4)

asdoc  xtreg Incogdp DID  $control tI 2 3  iyear#iregion iyear if

12
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1c2010==1]1c2012==11c2017==1,fe vce(cluster pr) nest append dec(4)

asdoc xtreg Incogdp DID S$control i.year#i.region i.year if cityd7==1,fe vce(cluster pr) nest
append dec(4)

asdoc xtreg Incogdp DID $control i.year#i.region i.year if sopilot==1,fe vce(cluster pr) nest
append dec(4)

gen Inprice=Inprice2

replace Inprice=0 if Inprice2==.

gen strvol=strvol2

replace strvol=0 if strvol2==.

gen Inliqui=Inliqui2

replace Inliqui=0 if Inliqui2==.

2 8*

asdoc xtreg Inco2 Inprice $control i.year#i.region i.year if 1c2010==1|1c2012==1|1c2017==1,fe
vee(cluster pr) nest replace dec(4)

asdoc xtreg Inco2 Inliqui $control i.year#i.region i.year if 1c2010==1|1c2012==1]1c2017==1,fe
vee(cluster pr) nest append dec(4)

asdoc xtreg Inco2 strvol $control i.year#i.region i.year if 1c2010==1|1c2012==1]1c2017==1,fe
vee(cluster pr) nest append dec(4)

asdoc xtreg Incogdp Inprice $control i.year#i.region i.year if 1c2010==1|1c2012==1|1c2017==1,fe
vee(cluster pr) nest append dec(4)

asdoc xtreg Incogdp Inliqui $control i.year#i.region i.year if 1c2010==1|1c2012==1|1c2017==1,fe
vee(cluster pr) nest append dec(4)

asdoc xtreg Incogdp strvol $control i.year#i.region i.year if 1c2010==1|1c2012==1|1c2017==1,fe
vee(cluster pr) nest append dec(4)

% 9%

asdoc xtreg Inco2 DID Inprice $control i.year#i.region i.year if
1c2010==1]1c2012==11c2017==1,fe vce(cluster pr) nest replace dec(4)

asdoc xtreg Inco2 DID Inliqui $control i.year#i.region i.year if

1c2010==1]1c2012==11c2017==1,fe vce(cluster pr) nest append dec(4)

asdoc xtreg Inco2 DID strvol $control i.year#i.region i.year if 1c2010==1|Ic2012==1|1c2017==1,fe
vee(cluster pr) nest append dec(4)

asdoc xtreg Incogdp DID Inprice $control i.year#i.region i.year if
1c2010==1]1c2012==11c2017==1,fe vce(cluster pr) nest append dec(4)

asdoc xtreg Incogdp DID Inliqui $control i.year#i.region i.year if
1c2010==1]1c2012==11c2017==1,fe vce(cluster pr) nest append dec(4)

asdoc xtreg Incogdp DID strvol $control l.year#i.region i.year if
1c2010==1]1c2012==11c2017==1,fe vce(cluster pr) nest append dec(4)

#*(3) BIRRREIREE S HIg e

clear

use " datal.dta"

global control "lnpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq
strpub Inslfd Inzls t1 t2 t3"

13
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asdoc xtreg Inco2 DID $control i.year#i.region i.year if pro!=4&pro!=1&city!=169,fe vce(cluster
pr) nest replace dec(4)

asdoc xtreg Inco2 DID S$control i.year#i.region i.year if pro!=27,fe vce(cluster pr) nest append
dec(4)

asdoc xtreg Inco2 DID S$control i.year#i.region i.year if pro!=24&pro!=6,fe vce(cluster pr) nest
append dec(4)

asdoc xtreg Incogdp DID Scontrol i.year#i.region i.year if pro!=4&pro!=1&city!=169,fe
vee(cluster pr) nest append dec(4)

asdoc xtreg Incogdp DID S$control i.year#i.region i.year if pro!=27.fe vce(cluster pr) nest append
dec(4)

asdoc xtreg Incogdp DID S$control i.year#i.region i.year if pro!=24&pro!=6,fe vce(cluster pr) nest
append dec(4)

ek — O T 54T BCT B U AR AR IR
clear
use "datal.dta"
gen Inprice=Inprice2
replace Inprice=0 if Inprice2==.
gen strvol=strvol2
replace strvol=0 if strvol2==.
gen Inliqui=Inliqui2
replace Inliqui=0 if Inliqui2==.
global control "lnpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq
strpub Inslfd Inzls t1 t2 t3"
w1 BN TTFEATARIE B Y5 B+
*ﬁ 2%
asdoc xtreg Inco2 DID c.DID#c.Inprice $control i.year#i.region i.year,fe vce(cluster pr) nest
replace dec(4)
asdoc xtreg Inco2 DID c.DID#c.Inliqui $control i.year#i.region i.year,fe vce(cluster pr) nest
append dec(4)
asdoc xtreg Inco2 DID c.DID#c.strvol $control i.year#i.region i.year,fe vce(cluster pr) nest append
dec(4)
*ﬁ 3%
asdoc xtreg Incogdp DID c.DID#c.Inprice $control i.year#i.region i.year,fe vce(cluster pr) nest
append dec(4)
asdoc xtreg Incogdp DID c.DID#c.Inliqui ~ Scontrol i.year#i.region i.year,fe vce(cluster pr) nest
append dec(4)
asdoc xtreg Incogdp DID c.DID#c.strvol $control i.year#i.region i.year,fe vce(cluster pr) nest
append dec(4)
#4205 NBUNTF U0 B R
gen penalty=6 if pro==1|city==169|pro==
replace penalty=5 if pro==27
replace penalty=4 if pro==21
replace penalty=3 if pro==12&city!=169
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replace penalty=2 if pro==24

replace penatyl=1 if pro=—=

replace penalty=0 if penal==.

replace penalty=0 if DID==0

*ﬁ 4*

asdoc xtreg Inco2 DID c.DID#c.strgygz strgygz $control i.year#i.region i.year,fe vce(cluster pr)
nest replace dec(4)

asdoc xtreg Inco2 DID c.DID#c.strpub strgygz $control i.year#i.region i.year,fe vce(cluster pr)
nest append dec(4)

asdoc xtreg Inco2 DID c.DID#c.penalty $control i.year#i.region i.year,fe vce(cluster pr) nest
append dec(4)

*ﬁ 5%

asdoc xtreg Incogdp DID c.DID#c.strgygz strgygz $control i.year#i.region i.year,fe vce(cluster pr)
nest replace dec(4)

asdoc xtreg Incogdp DID c.DID#c.strpub strgygz $control i.year#i.region i.year,fe vce(cluster pr)
nest append dec(4)

asdoc xtreg Incogdp DID c.DID#c.penalty $control i.year#i.region i.year,fe vce(cluster pr) nest
append dec(4)

kbR AP R 11

asdoc xtreg Inco2 Inprice c.Inpricetc.strgygz strgygz $control i.year#i.region i.year,fe vee(cluster
pr) nest replace dec(4)

asdoc xtreg Inco2 Inliqui c.Inliquitc.strgygz strgygz $Scontrol i.year#i.region i.year,fe vee(cluster
pr) nest append dec(4)

asdoc xtreg Inco2 strvol c.strvol#c.strgygz strgygz $control i.year#i.region i.year,fe vce(cluster pr)
nest append dec(4)

asdoc xtreg Incogdp Inprice c.Inprice#c.strgygz strgygz $control i.year#i.region i.year,fe
vee(cluster pr) nest append dec(4)

asdoc xtreg Incogdp Inliqui c.Inliquitc.strgygz strgygz $control i.year#i.region i.year,fe vee(cluster
pr) nest append dec(4)

asdoc xtreg Incogdp strvol c.strvol#c.strgygz strgygz $control i.year#i.region i.year,fe vce(cluster
pr) nest append dec(4)

ok [[Yﬁi% 12%*

asdoc xtreg Inco2 DID c.DID#c.zls $control i.year#i.region i.year,fe vce(cluster pr) nest replace
dec(4)

asdoc xtreg Incogdp DID c.DID#c.zls $control i.year#i.region i.year,fe vce(cluster pr) nest append
dec(4)

wRRRRE S i&_‘ﬁﬁﬁ/ﬁ****
1A B ERR MR 13
clear
use "datal.dta"
global controll " strind strser strls strwz popden Inpop marketindex Inqys strsq strpub Inslfd Inzls
tl 2 t3"
global control "lnpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq
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strpub Inslfd Inzls t1 t2 t3"

asdoc xtreg Ingdp DID $controll i.year#i.region i.year,fe vce(cluster pr) nest replace dec(4)

asdoc xtreg Inenergdp DID $control i.year#i.region i.year,fe vce(cluster pr) nest append dec(4)
asdoc xtreg strcoal DID S$control tl t2 t3 i.year#i.region i.year,fe vce(cluster pr) nest append
dec(4)

asdoc xtreg Incogdp DID Inenergdp strcoal $control i.year#i.region i.year,fe vce(cluster pr) nest
append dec(4)

= W X R R AR A - PR 147+

clear

use "datal.dta"

gen bj=1 if pro==

replace bj=0 if bj!=1

gen tj=1 if pro==7

replace tj=0 if tj!=1

gen sh=1 if pro==

replace sh=0 if sh!=1

gen sz=1 if city==169

replace sz=0 if sz!=1

gen gd=1 if pro==12&city!=169

replace gd=0 if gd!=1

gen hb=1 if pro==21

replace hb=0 if hb!=1

gen cq=1 if pro==27

replace cq=0 if cq!=1

gen fj=1 if pro==24

replace £j=0 if fj!=1

* DA ARy b o

global controlll "lnpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq

strpub Inzls t1 t2 t3"

xtreg Inco2 DID c.DID#c.bj c.DID#c.tj c.DID#c.sh c.DID#c.sz c.DID#c.gd ///
c.DID#c.hb c.DID#c.cq $controlll i.year#i.region i.year,fe vce(cluster pr)

est store al

xtreg Incogdp DID c.DID#c.bj c.DID#c.tj c.DID#c.sh c.DID#c.sz c.DID#c.gd ///
c.DID#c.hb c.DID#c.cq $controlll i.year#i.region i.year,fe vce(cluster pr)

est store a2

esttab al a2 using 57 i P4 1.rtf, r2 obslast nogaps drop (*year*) star(* 0.1 ** 0.05 *** 0.01)

b(%6.4f1) se(%6.4f) 12(%6.4f) compress replace

3 JRBK T U R R -PRR 157

clear

use "datal.dta"

global control "lnpgdp Inpgdpp strind strser strls strwz popden Inpop marketindex Inqys strsq

strpub Inslfd Inzls t1 t2 t3"

asdoc xtreg Inso2 DID S$control i.year#i.region i.year,fe vee(cluster pr) nest replace dec(4)
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asdoc xtreg Insogdp DID S$control i.year#i.region i.year,fe vee(cluster pr) nest append dec(4)

asdoc xtreg InPM25 DID $control i.year#i.region i.year,fe vce(cluster pr) nest append dec(4)

asdoc xtreg Inso2 DID c.DID#c.strvol $control t1 t2 t3 i.year#i.region i.year,fe vce(cluster pr) nest
append dec(4)

asdoc xtreg Insogdp DID c.DID#c.strvol $control i.year#i.region i.year,fe vce(cluster pr) nest
append dec(4)

asdoc xtreg InPM25 DID c.DID#c.strvol $control i.year#i.region i.year,fe vce(cluster pr) nest
append dec(4)
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